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This is a roof truss

Joe is building the roof of a house using triangular trusses. He creates a design for a truss with the following
criteria: Each truss will form an isosceles triangle with legs AC and CE and will have an equilateral triangle (triangle FCG)
inside. '

After buiiding the truss Joe needs to check that is will support the weight of the roof by measuring some of the
segments and angles. He has a tape measure to measure the length of segments and a protractor to measure angles,
Write a plan explaining to Joe the fewest number of measurements he should make to ensure the truss is stable. Stable

L ieans that AABF  AEDG, ABFC  ADGC, and AFCG is equilateral. Be specific about the segments {e.g. AB) to be
measured, angles {e.g. angle BAF) to be measured, and congruency postulates or theorems used. Be creative, efficient,
and justify your reasoning!
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This is a roof truss -~

Joe is building the roof of a house using triangular trusses. He creates a design for a truss with the following
criteria; Each truss will form an isosceles triangle with legs AC and CE and will have an equilateral triangle (triangle FCG)
inside.

After building the truss Joe needs to check that is will support the weight of the roof by measuring some of the
segments and angles. He has a tape measure to measure the length of segments and a protractor to measure angles.
‘Nfrite a plan explaining to Joe the fewest number of measurements he should make to ensure the truss is stable. Stable

.ieans that AABF2 AEDG, ABFC = ADGC, and AFCG is equilateral. Be specific about the segments (e.g. AB) to be
measured, angles (e.g. angle BAF) to be measured, and congruency postulates or theorems used. Be creative, efficient,
and justify your reasoning!
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This is a roof truss

Joe is building the roof of a house using triangular trusses. He creates a design for a truss with the following

criteria: Each truss will form an isosceles triangle with legs AC and CE and will have an equilateral triangle (triangle FCG)
inside.

After building the truss loe needs to check that mr{—will support the weight of the roof by measuring some of the
segments and angles. He has a tape measure to measure the length of segments and a protractor to measure angles.
Write a plan explaining to Joe the fewest number of measurements he should make to ensure the truss is stable. Stable

ieans that AABF = AEDG; ABFC ==ADGC, and AFCG is equilateral. Be specific about the segments {e.g. AB) to be
measured, angles {e.g. angle BAF) to be measured, and congruency postulates or theorems used. Be creative, efficient,
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This is a roof truss

Joe is building the roof of a house using triangular trusses. He creates a design for a truss with the following

criteria: Each truss will form an isosceles triangie with legs AC and CE and will have an equilateral triangle (triangle FCG)
inside,

After building the truss Joe needs to check that is will support the weight of the roof by measuring some of the
segments and angles. He has a tape measure to measure the length of segments and a protractor to measure angles.
\Write a plan explaining to Joe the fewest number of measurements he should make to ensure the truss is stable. Stable

Jeans that AABF AEDG, ABFC  ADGC, and AFCG is equilateral. Be specific about the segments {e.g, AB) to be

measured, angles (e.g. angle BAF) to be measured, and congruency postulates or theorems used. Be creative, efficient,
and justify your reasoning!
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This is a roof truss

Joe is building the roof of a house using triangular trusses. He creates a design for a truss with the following
criteria: Each truss will form an isosceles triangle with legs AC and CE and will have an equilateral triangle {triangle FCG)
inside,
After building the truss Joe needs to check that is will support the weight of the roof by measuring some of the
segments and angles. He has a tape measure to measure the length of segments and a protractor to measure angles.
Write a plan explaining to Joe the fewest number of measurements he should rmake fo ensure the truss is stable. Stable

ieans that AABF  AEDG, ABFC  ADGC, and AFCG is equilateral. Be specific about the segments (e.g. AB) to be
measured, angles (e.g. angle BAF) to he measured, and congruency postulates or theorems used. Be creative, efficient,

and justify your reasoning!
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